THEEE ARBELUREEEREFAERER

NO 1 BENETT) &£ cm X ¥k cm=EiERE #DIV/0! #/10a /=] om
REAR IR 1 2 3 4 5 6 7 8 9 10 11 12
-3 33 35 30 30 29 2 2 2 2 7
B 7/25 I* B 5 5 5 3 3 30 36
FEFH 13 13 11 12 14 12 12 10 12 13 13 13
FER
BA{EHA 8/23
FEHH
& R & FE
NO 2 MWH(E1T) &M cm X ¥k cm=HIEFE  #DIV/0! ZXK/10a (=) cm
H&EB IEH 1 2 3 4 5 6 7 8 9 10 1 12
¥ 33 35 35 36 30 31 7 2
B 7/25 I* E 36 38 35 3 35 3
FEHH 12 12 12 12 10 12 12 10 11 11 12 11
FER
BATEER 8/23
™ TEHH
& R & FH
NO 3 INLET(UETT) @M 1550 om X ¥k 47 cm=BEFE 1,373 Z/10a (/8= 26.0 cm
HER IEH 1 2 3 4 5 6 7 8 9 10 11 12
FF 49 42 51 44 48 52 50 50 51 55 52 49
E£EH 7/25 —— =
FEEH 17 12 16 16 19 18 19 20 17 20 20 16
FER
BA{EHA 8/23
™ TEEH
& R E R




THEEE ARBELUREEEREFAERER

NO 4 KEF(ETT) O£ cm X ¥k cm=FRIERE #DIV/0! A</10a /=] cm
HEHR IR 1 2 3 4 5 6 7 8 9 10 11 12
E-3 49 38 49 47 30 47 49 44 47 4 42 4
H£FH 7/25 I* o > 8
FEHH 14 11 14 14 12 14 15 14 13 12 12 14
FER
BATEHER 8/21
FEHH
& R & FE
NO 5 BT/H (B1T) @£/ cm X #k[E cm=HIEFE  #DIV/0! ZXK/10a (=) cm
&R IEH 1 2 3 4 5 6 7 8 9 10 11 12
¥ 35 33 35 40 36 34 36 34 34 35 7
£FH 7/25 I* E 36 3
FEFHH 13 9 13 13 12 12 13 13 13 13 13 12
FER
BHIEHE 8/21
FEHH
& R & FH
NO 6 LINBFE (1B17) @50 cm X ¥k fE cm=RIERE #DIV/0! A/10a /A=) cm
HER IEH 1 2 3 4 5 6 7 8 9 10 11 12
FF 40 50 48 35 44 45 39 42 39 40 33 45
E£EH 7/25 —— =
FEEH 16 14 14 13 13 16 13 14 12 13 13 12
FER
BA{EHA 8/23
™ TEEH
& R E R




